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�%� ��0#� �� �%� ��
� $��� �����
�� ���� �� �%� ��	�
��# �1 �� $��
���� &
�% 
��$�	��
�� #���
�����	' &%�	� �%� #
1��
��� �	� �����	�� 
� ���� 1	�� �
�� �1 ����	
�� �%� ����� ��� ���
#
����%( ���$#��� 1�##�&2�$ &�� �0��
��� �� �## $��
���� �� �%�� �%� �
��� #
1��
��� Ti �	�
�0��	��� 3��� ��0#�4(

"� 
� ������ 
� ����
�� �1 �%
� 5
��' �� 
���	
� ���#��
� &�� ��������� �� � $�	�
��#�	 ���'
0� &%
�% ��#� � $��
���� %�� �
��( �%� �����	�� ���� �0��
��� �� �%�� ���� �	� �%� Yi �
���

� �%� ��0#�' ��� �%� Di �	� �%� �������� �� �%�� ���' &
�% Di = 1 
1 $��
��� 
� ���� ��� Di = 0

1 $��
��� 
� �#
�� �� �%� ��� �1 �%� 
���	
� ���#��
�(
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i Yi Di Ti

1 27 1 27
2 108 0 441
3 124 1 124
4 136 1 136
5 170 1 170
6 186 0 191
7 210 1 210
8 231 0 308
9 306 0 511

10 410 0 559

�� ���$��� �%� 6�$#��2��
�	 ���
����	 R̂(t) �1 �%� ��	�
��# 1����
�� R(t) 1�	 �%� #
1��
��
T �1 � $��
��� &
�% 
��$�	��
�� #��� �����	' 0���� �� �%� �����	�� ����

(Yi, Di); i = 1, 2, . . . , 10.

7	�& �%� ���
����� ��	��(

�%� $	�0�0
#
�� �1 ��	�
�
�� 8 ����%�' 
(�( ��� ����' 
� �1 
���	���( 9%�� 
� �%� ���
����
R̂(180):

���$��� �%� ���
����� ������	� ���
��
�� �1 R̂(180) ��� ��� �%
� �� ;�� �� �$$	�

����
��< ���;����� 
���	��# 1�	 R(180) 0���� �� �%� 
���	
� ����(

�� 7	�& �%� ��$
	
��# ��	�
��# 1����
�� R∗(t) 1�	 T 0���� �� �%� ���$#��� ��	�
��# ����
Ti; i = 1, 2, . . . , 10 
� �%� ���� �
��	�� �� �%� 6�$#��2��
�	 ���
���� 
� $�
�� 3�4(

9%�� 
� �%� ���
���� R∗(180): ���$��� �%� ���
����� ������	� ���
��
�� �1 R∗(180)(
3����� =�� &�� �1 ��
�� �%
� 
� 0� ��
�� �%�� �%� 	����� ��	
�0#�

Z(180) = ���0�	 �1 ����% �
��� �%�� �	� > 180


� 0
���
�##� �
��	
0���� (10, R(180))' ��� �
$	���
�� R∗(180) 0� Z(180)4(

���$�	� �%� 	���#�� �1 �%
� $�
�� &
�% �%� 	���#�� �1 $�
�� 3�4 ��� �
�� � �������(

�� �%� ���� �
�� �� ����%' E(T )' 
� �1 
���	��� 
� �%� �����( " ������#� ���� ���%��
�� ���
���� E(T ) 1	�� �����	�� ���� 
� 0� ���$��
�� �%� �	�� ����	 �%� 6�$#��2��
�	
��	�� ���
# �%� #��� �0��	��� �
�� 3�����	�� �	 ���2�����	��4(

+
$#�
� �%� 	�����
�� 0�%
�� �%
� ���
����	 ��� �� �%� ���$����
�� ��
�� �%� �����	��
���� (Yi, Di) ��� 	���#�� 1	�� $�
�� 3�4(

/�& &��#� ��� ���
���� E(T ) 1	�� �%� ���$#��� ���� Ti: ���$��� �#�� �%
� ���
����
�1 E(T ) ��� ���$�	� 
� �� �%� 	���#� 0���� �� �%� �����	�� ����(
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����##�� ��$� ���%
��� 
� ����	�# �1 
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�
�
���( �&� ���%
��� �1 �%� ����
��$� �	� 
����##�� 
� �&� ���% �
�
����( �%� ���%
��� �	� ��	�
��� ���	� !� ���� ��� �%�
���$��� 	���	�� �## 1�
#�	� �
��� 0��&��� �&� ��	�
���' &
�% �
�� �����	�� 1	�� � �� !�
3����4( -� 
� ������� �%�� 	�$�
	� �	� �
�
��# ��� ��5� � ���#
�
0#� �
��' �� �%�� 1�
#�	� �
���
�1 �%� �&� ���%
��� �	� ������� �� 1�##�& ���2%���������� >�
���� $	������� 3,/>>�4(
?�	�%�	' �%� 1�
#�	� $	������� ��		��$���
�� �� �%� �&� ���%
��� �	� ������� 
���$������(

��� �%� �&� ���%
��� ����	 ����� %��� $���
0#� �
@�	��� 
�����
�� 1����
��� 3A=�=? 1���2
�
���4 w1(t) ��� w2(t)' 	��$���
��#�' ��� #�� W1(t) ��� W2(t) ������ �%� ��		��$���
�� ����2
#��
�� 
�����
�� 1����
��� 3�A=�=? 1����
���4(

�%� 1�##�&
�� 1�
#�	� �
��� 3
� ����4 &�	� �0��	��� 
� � $�	�
��#�	 !� ���� $�	
���

��$� ���%
�� �� ��' ��' ��' ��(

��$� ���%
�� �� �' �!' ��' ��' ��' �8' ��(

�� �%� ;��	� 0�#�& �%�&� ���
����� ��	��� Ŵ1(t) ��� Ŵ2(t)(

/�& �	� �%� ���
����� ��	��� ��#��#����:

7� �%� ��	��� 
��
���� � �	��� 
� �%� A=�=? 1����
��� �1 �%� ��$� ���%
���:

9%�� �	� �%� $	���
��# 
���	$	����
��� �1 W1(30) ��� W2(30):

9	
�� ��&� �%� ���
����� Ŵ1(30) ��� Ŵ2(30) �����%�	 &
�% �%�
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����� ������	�
���
��
���(



	
��
�� �������� �������� ���� � �� �

�� �� 
�����
���� &%��%�	 �%�	� 
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� �%� A=�=? 1����
��� w1(t) ��� w2(t) ���
$�	1�	��� �
#
��	� /���0��5 �	��� ����� ��$�	���#� 1�	 ���% �1 �%� �&� ���%
���(

9%�� �	� �%� ��## %�$��%���� ��� �#��	���
�� %�$��%���� �1 �%��� �����' ��� &%�� �	�
�%� ����#��
��� 
1 ��� ��� �
��
;����� #���# �< 1�	 ���% ����:

?
��##� � $��#�� �
#
��	� /���0��5 ���� &�� $�	1�	��� 1�	 �%� ���� 1	�� �%� �&� ��2
�%
���(

9	
�� ��&� �%� ��## %�$��%��
� ��� �#��	���
�� %�$��%��
� 
� �%
� ����(

9%�� 
� �%� ����#��
�� 
1 �< �
��
;����� #���# 
� ���� 1�	 �%� $��#�� ����:

������� � ���� ��
����� ��

����
��	 �%� ���� �
����
�� �� 
� >	�0#�� �(

=�� ��& ������� �%�� �%� 1�
#�	� �
��� �1 �%� ��$� ���%
��� 1�##�& ,/>>� &
�% $�	����	
�
A=�=? 1����
��� �1 �%� $�&�	2#�& ��$�( ��	� $	��
��#� 
� 
� ������� �%�� �%� A=�=?
1����
��� w1(t) ��� w2(t) �	� �
��� 0�' 	��$���
��#�'

w1(t) = λβtβ−1 3�4

w2(t) = δλβtβ−1 3�4

1�	 t > 0' &%�	� λ > 0' β > 0' δ > 0 �	� ��5��&� $�	�����	�( /�	� δ ����	
0�� �%�
$���
0#� �
��	����� 
� A=�=? 0��&��� �%� �&� ���%
���' &
�% δ = 1 ��		��$���
�� �� �%�
�&� ���%
��� %��
�� �%� ���� A=�=? 1����
��( ,��� �#�� �%�� �%� $�&�	 β 
� ������� �� 0�
�%� ���� 1�	 �%� �&� ���%
���(

���' 	��$���
��#�' N1 ��� N2 0� �%� ���0�	 �1 1�
#�	�� �0��	��� 1�	 �%� �&� ���%
��� 
� � !�
���� $�	
��(

�� 9%�� �	� �%� $	�0�0
#
�� �
��	
0��
��� �1 N1 ��� N2 ����	 �%� �
��� �����$�
���:

+
$	��� E(N1) ��� E(N2) 
� ��	�� �1 �%� $�	�����	� λ' β' δ(

��� ��� �
�� � �
�$#� 
���	$	����
�� �1 �%� $�	�����	 δ 
� ��	�� �1 �%��� �
$�����
���:

�� 9	
�� ��&� �%� ����	�# �
$	���
�� 1�	 �%� #��2#
5�#
%��� 1����
�� 1�	 1�
#�	� �
���
S1, S2, . . . , SN(τ) 1�	 � �
��#� ,/>> &
�% A=�=? 1����
�� w(t) ��� �A=�=? 1����
��
W (t)' �0��	��� �� � �
�� 
���	��# [0, τ ](

B�� �%
� �� �%�& �%�� �%� #��2#
5�#
%��� 1����
�� 1�	 �## �%� 1�
#�	� �
��� �1 �%� �&� ��$�
���%
���' S11, S21, . . . , SN11 1�	 ���%
�� �' ��� S12, S22, . . . , SN22 1�	 ���%
�� �' ��� 0�
&	
����

l(λ, β, δ) = (N1 + N2) ln λ + (N1 + N2) ln β + N2 ln δ + (β − 1)U − λ(1 + δ) · 30β
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U =

N1∑
i=1

ln Si1 +

N2∑
i=1

ln Si2

��� ln 
� �%� ����	�# #���	
�%�(

-� ��� 0� �%�&� 3��� �%��#� ��� �� �%
�4 �%�� �%� ��

��� #
5�#
%��� ���
����	� �1 �%�
$�	�����	� �	� �
��� 0�

δ̂ =
N2

N1

β̂ =
N1 + N2

(N1 + N2) ln 30 − U

λ̂ =
N1 + N2

(1 + δ̂) · 30β̂

�� ��#��#��� �%� ���
����� 1�	 λ' β ��� δ 1�	 �%� ���� �
��� 
� >	�0#�� �( C�� ��� ��� �%��
U = 32.1426 &
�%��� ���$��
�� �%
� ���	��#1(

�%� 
���	�� �1 �%� �0��	��� 
�1�	���
�� ���	

 �1 (λ, β, δ) 3
� �%
� �	��	4 
� �
��� 0� �%�
1�##�&
���

⎡
⎣

5.278 · 10−5 −4.451 · 10−3 −1.446 · 10−3

−4.451 · 10−3 0.3960 0
−1.446 · 10−3 0 1.203

⎤
⎦

B�� �%
� �� ���$��� �� �$$	�

���� ��< ���;����� 
���	��# 1�	 β(

/�& ��� ��� ��� �%
� ���;����� 
���	��# �� ���� �%� ��## %�$��%��
� H0 : β = 1 ���
���
�%� �#��	���
�� %�$��%��
� H1 : β �= 1: 9%�� 
� �%�� �%� ����#��
��: 3C�� ���� ��� �
��
����
#�� 	������ 1�	 �%� ���%�� ���� %�	�4(

+
$#�
� &%� �%� �0��� ��## %�$��%��
� H0 : β = 1 �
���#� ��		��$���� �� �%� ��##
%�$��%��
� ������ &
�% �%� $��#�� �
#
��	� /���0��5 ���� 
� >	�0#�� �304(

�� �%� %�$��%���� 
� $�
�� 3�4 ��� �#�� 0� ������ 0� ��
�� �%� #��2#
5�#
%��� 1����
��
l(λ, β, δ)(

+
$#�
� %�& �%
� ��� 0� ���� ��� $�	1�	� �%� ���� &
�% �$$	�

���� �
��
;����� #���#
�<(

�� �
�$#
1� �%� ���$����
��� ��� ��� ��� &
�%��� ���$��
�� 
� ���	��#1 �%�� l(λ̂, β̂, δ̂) =
−26.88(


